
Where SA = surface area

n

n
The th root of the product of  numbers



Units must be compatible



Only when the titration factor is 1.00 of EDTA



All information (In and Out) 

must be in decimal form



see Mean Cell Residence Time

 Where V1 + V2 = V3; C = concentration, V = volume or 

flow; Concentration units must match; Volume units 

must match



Where C = Concentration, V = volume or flow; Concentration units 

must match; Volume units must match
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Pie Wheels*

To find the quantity above the horizontal line: multiply the pie wedges below the line together.

To solve for one of the pie wedges below the horizontal line: cover that pie wedge, then divide the remaining pie wedge(s) 

into the quantity above the horizontal line.

Given units must match the units shown in the pie wheel.

When US and metric units or values differ, the metric is shown in parentheses, e.g. (m ).2


